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1. w4 g =s) 3,380 4,500|  -1,120
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=% 7H 69,0009 #209= 1,380,000
2. 02 957 4,040 3,150 890
1. 22 73} Y AL 4,040 3,150 890
1. kg9 2,000 2,000 0|35 1 1,000,000 +23]= 2,000,000
2. W 5&qH| 1,140 0 1,140 | &AL H] 30,0009 197 #23] = 1,140,000
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2. A BA /& AzL B A 43,950 44,625 -675
1.52 #¥ 18,066 21,847 -3,781
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1.9-fra 2 0 2,924  -2,924
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2. 87 AA 735 950 -215
1.3 B A 1) 735 950 -215 AZAAID : 40,0009 %179 = 630,000
2WMAANRG : 1,0009#55 = 55,000
3.1074%9 3,980 3,600 380
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9= 100,000 %53]= 500,000
A PSAAD 10,0009 1778= 170,000
4.5 Adgeaaddsta 0 0 0
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1. kg9 400 400 0|3 E1] @ 200,000 +23]= 400,000
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2.8 sdF 2,640 924 1,716
1. dk8-1) 2,640 924 1,716 | AAgHf-A 22 @ 220,000 12€= 2,640,000
4,350 FhA 0 2,800 2,800
1. 25873744 0 2,800|  -2,800
1.PCT4 0 2,800 2,800
1A T§) 0 2,800 -2,800
2. WA AN 0 0 0
3. &) HAH| 0 0 0
4.3}38k 77 A 0 0 0
5.3%2 87 A 0 0 0
6. 21874 MA 0 0 0
6.8k luke o] 100,250 97,141 3,109
1.8 079 $9 30,090 28,940 1,150
LE-A71 289 30,090 28,940 1,150
1. 04499 7,000 7,350 -350
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SGEE 1 100,0009)#43]= 400,000
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WAL ZAL 50,0009 %33]= 150,000
SHEES  100,0009+43]= 400,000
5. 4 d A n 3,000 3,000 0/Q4F-F74] : 250,000 «12¢= 3,000,000
2. 394484 12,550 11,250 1,300
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